
1049.01.1112

Assembly instructions 
DE

FR

NL

DA

SV

NO

Montageanleitung

Notice de Montage

Montage Instructies

Montagevejledning

Monteringsanvisning

Montasjeveiledning

FI

IT

CS

PL

SL

HU

Kokoonpano-ohjeet

Istruzioni di Montaggio

Montážní Návod 

Instrukcja Montażu

Navodila za Montažo

Szerelési útmutató

EN

HR

BS

RO

RU

UK

Skupština Upute

Skupština Uputstvo

Instrucţiuni de Asamblare

инструкция по монтажу

Інструкція по монтажу

HeleNA SlIdINg
doUble door KIt



2 049.01.1112

Item
No. Part Sect.

Ref.
Size
mm Quantity

7359 3 2548 1

7360 2 M6 4

7361 3 1796 2

7362 3 1222 1

7363 3 1217 1

7364 2 ø 32 4

7384 2 574 1

7390 3 M6 x 30 4

7392 2 ø 5/3 8

7393 2 M6 x 31 4

7400 2 123 1

7401 2 123 1

7402 2 60 1

7404 2 M4 x 10 8

7405 2 M4 x 25 4

7420 2 12000 1

Item
No. Part Sect.

Ref.
Size
mm Quantity

2002 3 4.2 x 38 2

2003 3 ø 8 2

2271 2 37 4

3002 3 M6 2

6070 3 ø 13.5 24

7052 2-3 M6 x 12 26

7053 2-3 M6 28

7332 2 9000 x 10 1

7350 2 20 4

7351 3 2548 1

7352 2 653 1

7353 2 653 1

7354 2 574 1

7355 2 574 2

7356 2 1828 2

7357 2 1828 1

7358 2 1828 1



3

Helena SDD Kit

049.01.1112

1

7311

7381

7381

7372

A

A

7331

7372

7372



4

Helena SDD Kit

049.01.1112

2

2271
x4

7052
x16

7053
x16

7332
x1

7350
x4

7352
x1

7353
x1

7354
x1

7355
x2

7356
x2

7357
x1

7358
x1

7360
x4

7364
x4

7384
x1

7392
x8

7393
x4

7400
x1

7401
x1

7402
x1

7404
x8

7405
x4

7420
x1

2.2 2.3








2.3
2.7a

2.6
2.7b

2.4
2.8a

2.5
2.8b

2.10 2.9
2.102.2

2.9

2.11

7352 7353

7356

7354 7384

7357 7358 7356

7355 7355

G G

G G

7355
7332

7332

733273327332

7393

7392 7392
7364

7360

7350
7052

7053

7357

7355

2.1
GlAss PolycArbonAte

QuAntity4 mm 10 mm 16 mm

Art. no. mm Art. no. mm Art. no. mm

G 367853 619 x 843 369586 619 x 843 369596 595 x 823 4



5

Helena SDD Kit

049.01.1112

2

2.6

2.10 2.11

2.9

2.7b2.7a

2.4 2.5







2.8b2.8a

7420

7420

7420
7420

7420

7420

G
G(4mm)

G(4mm)7356

7355

7052
7053

7356

7358

7357

7354/84

7355

7352/53

4/10mm

16mm

G G

7356

7053

7052

2271

7352

7357

73847354

7400

7402

7401

7404
7404

7405 7405

7053 7053

70527052

7355

7352

7357

7357

7357 7358

73587357

7354 7384



6

Helena SDD Kit

049.01.1112

3

3.3 3.4

3.23.1

2002
x2

2003
x2

3002
x2

6070
x24

7052
x10

7053
x12

7351
x1

7359
x1

7361
x2

7362
x1

7363
x1

7390
x4 7362

7302
7302

7362

7053

7390

7390

7390

7053

7053

7053

7390

7351 7362

7302

7351

2002
2003

3.1
3.5
3.12b

3.2
3.7
3.8

3.6
3.10

3.3
3.4
3.9

3.11
3.12a



7

Helena SDD Kit

049.01.1112

3

3.83.7

3.5 3.6

3.9

73617311

73617311

7053
7052

7322

73617361

7053

7052

7363

7363

7302

7363

7351

7361

7302

3.10

7052
70527053 7053

3002

7359

7322

3.12a3.11

G

G





7359

2271

7350

73517364

7359

3.12b



8 049.01.1112

OPJ A/S
Volderslevvej 36 A  
Postboks 480
5260 Odense S 
Danmark
Tel.: +45 66 15 10 30 
Fax: +45 66 15 00 84
www.opj.dk 
opj@opj.dk

E.P.H. Schmidt u. Co. GmbH
Hoefkerstrasse 30
44149 Dortmund
Postfach 170163
44060 Dortmund
Deutschland
Tel.: +49 231 941655 0  
Fax: +49 231 941655 99
www.eph-schmidt.de  
verkauf@eph-schmidt.de


